CLERK'S CONTRACT and AGREEMENT COVER PAGE

Legistar File ID#:

Innoprise Contract #:

Year:

Amount:

Department:

Contract Type:

Contractors Name:

Contract Description:



"The Professional Approach to Ecology"

To: Address:	Michael Mazza Village of Orland Park 14700 Ravinia Ave. Orland Park, IL	Contact: Brad Millis Phone: 630-512-1137 Email: <u>bmillis@v3co.com</u>
Project Name:	Imperial Ponds 2019-2020	Date: 5/10/2019
Project Address:	Imperial Ln Orland Park	Ref No. PER17926

V3 Companies proposes to perform the following work:

ltem	Item Description	Qty	Unit	Unit Price	Т	otal Price
2019						
1.0	Pre-seeding Weed Control	2.0	EA	\$ 720.00	\$	1,440.00
2.0	Soil Preparation	1.0	LS	\$ 3,460.00	\$	3,460.00
3.0	Wet Mesic Seeding	0.4	AC	\$ 1,990.00	\$	796.00
4.0	Erosion Blanket	1940.0	SY	\$ 1.60	\$	3,104.00
			Subtotal - 2019:		\$	8,800.00
<u>2020</u>						
5.0	Plug Planting	1200.0	EA	\$ 3.25	\$	3,900.00
6.0	Weed Control	3.0	EA	\$ 720.00	\$	2,160.00
7.0	Wet Mesic Over-Seeding	0.4	AC	\$ 1,990.00	\$	796.00
			S	iubtotal - 2020:	\$	6,856.00

TOTAL PRICE:	C	15656.00

Project Notes:

- 1.0 Contract will be invoiced at the units and rates indicated herein.
- 2.0 The attached exhibit and quantities provided are estimates based on field observations. Layout of activities should happen between the Village and V3 before work begins.
- 3.0 Preseeding weed control will consist of killing nearly 100% of current vegetation in select areas. Follow up herbiciding will be used to treat subsequent germination of weedy species. Brown dead vegetation should be expected until the fall when final seeding and blanketing can be conducted.

"The Professional Approach to Ecology"

То:	Michael Mazza	Contact: Brad Millis
Address:	Village of Orland Park 14700 Ravinia Ave.	Phone: 630-512-1137 Email: bmillis@v3co.com
	Orland Park, IL	
Project Name:	Imperial Ponds 2019-2020	Date: 5/10/2019
Project Address:	Imperial Ln Orland Park	Ref No. PER17926

- 4.0 Prescribed burns are targeted for execution between fall and spring of the following year. Actual schedule will be dependent upon permitting and appropriate field conditions.
- 5.0 Prescribed burns do not guarantee the protection and survivorship of any landscape material located within or immediately adjacent to the burn area.
- 6.0 Invoicing will be issued for prescribed burn preparation at the time the permit is issued. If the burn is delayed beyond the expiration of the permit, additional charges will apply to complete a second iteration of the permit documents and reapply for the permit.
- 7.0 Burns are anticipated to be completed in a single mobilization. If a burn is terminated prior to completion for any reason, the burn will be invoiced as a prorated portion of the total cost based on acreage completed and the mobilization of equipment and personnel. The fee for completing the burn will be evaluated and additional costs will be presented to the client for approval.
- 8.0 Site monitoring will be performed during late summer/early fall to evaluate vegetation establishment, species diversity, weed pressure, and other items that may affect the overall performance of the native vegetation. Results will be presented at the end of the growing season in the form of a letter report that will also include recommendations for future maintenance.
- 9.0 This proposal will be executed in accordance with the attached terms and conditions.

ACCEPTED:	CONFIRMED:		
The above prices, specifications and conditions are satisfactory	V3 Companies, Ltd.		
Purchaser: IMREIN U. Mage MANNE	Authorized Signature:		
Signature:	Mukin fang ter		
Printed Name: Thomas Pokel ker	Printed Name: Michael Famiglietti, P.E.		
Date: 6-21-19	Vice President		

